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1.  Complete the following table:
	Species
	Number of Protons
	Number of Electrons
	Oxidation Number
(Charge)

	Cu (s)
	29
	29
	0

	Cu+ (aq)
	29
	29 – 1 = 28
	+1 ("+1" or "1+")

	Cu2+ (aq)
	29
	29 – 2 = 27
	+2

	Zn (s)
	30
	30
	0

	Zn2+ (aq)
	30
	30 – 2 = 28
	+2

	V2+ (aq)
	23
	21
	+2

	Mo3+ (aq)
	42
	42 – 3 = 39
	+3


2.
Consider the reaction Zn (s) + Cu2+ (aq) → Zn2+ (aq) + Cu (s).  Which species gained

electrons?  How many?  Which species lost electrons?  How many?
Zn (s) has lost two electrons to become Zn2+ (aq)

30 protons




      30 protons
30 electrons



      28 electrons
Cu2+ (aq) has gained two electrons to become Cu (s)

29 protons





   29 protons
27 electrons




   29 electrons
